arcsec

arcsec

10

arcsec

-10

20

NGC 0298

40

-10

-5

Y

\H*\HH‘HHHH\‘HHH H‘H\HHH‘\H

1007 ; ]
N | ]
o 50 - : -
8 E | Mbar E
g 0 N : -
G - : . + T A
% -50 N i + + + : + E
-100 ¢ ‘ ‘ AN ‘ ‘ ]
0 2 4 6 8 10 12 14
Radius (arcsec)
150 - \ .
i Vhalo b
- V3.6um 7
I Ve ]
100
&
£
<
>
50
I
I
1 Moy
I i
I

5 10 15 20

Radius (arcsec)

25 30

0.40

0.30

0.20

10.10

-0.20

-0.30

-0.40

arcsec

0.6

0.6

-40 -20 0 20 40
arcsec
h= 08" -
h= 11" -
N h= 19"
rbar |

2 4 6 8 12 14

Radius (arcsec)

10

[
' rbar

40 60

20

Radius (arcsec)
Q... AZ¥: 0.29
Fp - ryo: 6.8arcsec
anlo—corr A2(rbar) 027
rge[l)lo—corr . ATaX .
Quew ;.. VIE | : 5927 P8 km/s
e : fewm © 20.257 %% arcsec

(Qbar—only)halo—corr .
b = maas

V3.6um ( Ropt) :

56.9% 23 km/s

(rgGy-onyyhalo-corr . drVseum(0) 1 108.57,¢5 km/s/kpe
Qq(r,,) : 0.217 0% M/M, (<R, : 3.83
QPO (1) © 0.14 a: 3.0kpc
e: 0.50 V_: 122.6 km/s
- Q |
| — Q_r|1_alo-corr |
_ Q_t|>_ar-on|y |
_ Q_kl)_ar-only&halo-corr |

—

2 4 6 8

Radius (arcsec)

10 12 14



